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In the following question, some part of
the sentence may have errors. Find out
which part of the sentence has an error
and select the appropriate option. If a
sentence is free from error, select 'No
Error'.

Photosynthesis is (1)/ possible (2)/
because of sun. (3)/ No error (4)

A1 B. 2
C. 3 D. 4
C

In the following question, some part of
the sentence may have errors. Find out
which part of the sentence has an error
and select the appropriate option. If a
sentence is free from error, select 'No
Error'.

Every effect we see, hear or speak in our
outside (1)/ or physical world has a
specific cause that (2)/ have its origin in
the inner or mental world. (3)/ No error

(4)
A 1 B. 2
C. 3 D. 4
C

In the following question, the sentence
given with blank to be filled in with an
appropriate word. Select the correct
alternative out of the four and indicate it
by selecting the appropriate option.

worst is yet to come.
A. The

B. An
C. A D. None
A

In the following question, the sentence
given with blank to be filled in with an
appropriate word. Select the correct
alternative out of the four and indicate it
by selecting the appropriate option.
Corruption is an evil generally more
in the underdeveloped and
developing countries of the world.
A. reluctant B. distant
C. rampant D. extravagant
c
In the following question, out of the
given four alternatives, select the one
which best expresses the meaning of the
given word.
Turbulence
A. Agitation
C. Repose

B. Calmness
D. Stillness
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A

In the following question, out of the
given four alternatives, select the one
which best expresses the meaning of the
given word.

Quiescent

A. Dull B. Questionable
C. Bright D. Alive

A

In the following question, out of the
given four alternatives, select the one
which is opposite in meaning of the given
word.

Sordid

A. Dirty B. Black

C. Corrupt D. Reputable
D

In the following question, out of the
given four alternatives, select the one
which is opposite in meaning of the given
word.

Relationship

A. Affinity B. Member
C. Leaning D. Opposition
D

Rearrange the parts of the sentence in
correct order.

The art of

P : efforts and practice

Q : fruit of persistent

R : effective presentation is the
A. QPR B. RPQ
C. RQP D. PRQ
C

A

sentence has been given in
Active/Passive Voice. Out of the four
given alternatives, select the one which
best expresses the same sentence in
Passive/Active Voice.

The girl caught the kite.

A. The kite was caught by the girl.
B. The kite is caught by the girl.
C. The kite was catch by the girl.
D. The kite is catch by the girl.
A

A

sentence has been given in
Direct/Indirect Speech. Out of the four
given alternatives, select the one which
best expresses the same sentence in
Indirect/Direct Speech.
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14.

Tina said to him, “Please wait here till I

return.”

A. Tina asked him to stay there.

B. Tina requested him to wait there till
she returned.

C. Tina request him to wait until she
comes.

D. Tina says he should wait there till her
returned.

B

In the following question, a word has

been written in four different ways out of

which only one is correctly spelt. Select

the correctly spelt word.

A. Laison B. Liaison
C. Lieison D. Liaisone
B

In the following passage, some of the
words have been left out. Read the
passage carefully and select the correct
answer for the given blank out of the
four alternatives.
Photography is the we
can get to stopping time. The camera is
our pause button, the cork we use to
stop time from running out. And the
photo album is the most potent time
machine ever , one that
transports you to a curated past where
everything exists you choose
to remember it, one that lets you revisit
just people and places and
but the hidden crannies of
own memory and the strange
landscape of emotions that lies beyond.

ages,

Photography is the we
can get to stopping time.

A. close B. closest

C. closeness D. closely

B

In the following passage, some of the
words have been left out. Read the
passage carefully and select the correct
answer for the given blank out of the
four alternatives.

Photography is the we
can get to stopping time. The camera is
our pause button, the cork we use to
stop time from running out. And the
photo album is the most potent time
machine ever , one that
transports you to a curated past where

Ans.

15.

Ans.

16.

everything exists you choose
to remember it, one that lets you revisit
just people and places and
ages, but the hidden crannies of
own memory and the strange
landscape of emotions that lies beyond.

time machine ever , one
that transports

A. build B. built

C. building D. builds

B

In the following passage, some of the
words have been left out. Read the
passage carefully and select the correct
answer for the given blank out of the
four alternatives.
Photography is the we
can get to stopping time. The camera is
our pause button, the cork we use to
stop time from running out. And the
photo album is the most potent time
machine ever , one that
transports you to a curated past where
everything exists you choose
to remember it, one that lets you revisit
just people and places and
ages, but the hidden crannies of
__ own memory and the strange
landscape of emotions that lies beyond.

everything exists you choose
to

A. so B. to

C. at D. as

C

In the following passage, some of the
words have been left out. Read the
passage carefully and select the correct
answer for the given blank out of the
four alternatives.
Photography is the we
can get to stopping time. The camera is
our pause button, the cork we use to
stop time from running out. And the
photo album is the most potent time
machine ever , one that
transports you to a curated past where
everything exists you choose
to remember it, one that lets you revisit
just people and places and
ages, but the hidden crannies of
own memory and the strange
landscape of emotions that lies beyond.
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lets you revisit just people
A. nor B. none

C. no D. not

C

In the following passage, some of the
words have been left out. Read the
passage carefully and select the correct
answer for the given blank out of the
four alternatives.
Photography is the we
can get to stopping time. The camera is
our pause button, the cork we use to
stop time from running out. And the
photo album is the most potent time
machine ever , one that
transports you to a curated past where
everything exists you choose
to remember it, one that lets you revisit
just people and places and
ages, but the hidden crannies of
own memory and the strange
landscape of emotions that lies beyond.

but the hidden crannies of own
memory and

A. your B. you

C. yourself D. yourselves

C

In the following question, out of the four

alternatives, select the alternative which

best expresses the meaning of the

idiom/phrase.

Be left stranded

A. Unable to leave somewhere because
of a problem.

B. Suffer a bad hair day.

C. Having only a single thing to hold on
to save yourself.

D. To be the last person on whom the
blame falls on eventually.

D

In the following question, out of the four

alternatives, select the alternative which

best expresses the meaning of the

idiom/phrase.

All thumbs

A. Permission from the
people to go ahead.

B. A crowd cheering their favourite
team.

C. Physically awkward, especially with
respect to the hands.

concerned

Ans.
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Ans.

228

Ans.,

23.
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24,

D. An illiterate person who cannot sign
his name.

B

In the following question, out of the

four alternatives, select the alternative

which is the best substitute of the

words/sentence.

A group of people leading the way in new

developments or ideas

A. Sycophant B. Stooge
C. Zealot D. Vanguard
C

In the following question, out of the
four alternatives, select the alternative

which is the best substitute of the
words/sentence.

Eager or quick to argue or fight;
aggressively defiant

A. Docile B. Truculent

C. Pliable D. Pliant

D

In the following question, out of the four
alternatives, select the alternative which
will improve the bracketed part of the
sentence. In case no improvement is
needed, select "no improvement".

The base of the cooking vessels would
have a thick coating of carbon deposit
and (clean) it was a pain.

A. cleaned B. cleans
C. cleaning D. no
improvement

Cc

In the following question, out of the four
alternatives, select the alternative which
will improve the bracketed part of the
sentence. In case no improvement is
needed, select "no improvement".

It (has been pointed) out that people’s
Facebook postings are not a real
reflections of who they are.

A. has being pointed

B. has been point

C. has been pointing

D. no improvement

D

The question below consists of a set of
labelled sentences. Out of the four
options given, select the most logical
order of the sentences to form a
coherent paragraph.
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The introduction of

A-had ruled from the time man learned
to cook food

B-meant the end of firewood, which
C-the kerosene stove also

A. CAB B. BCA
C. CBA D. BAC
B

In the following question, four words are
given out of which one word is correctly
spelt. Select the correctly spelt word.

A. obsesive B. obsessiv
C. obsessive D. obsesiv
B

ArIfa@a g2 & v v [eredt & &
T ersg IoA H AT |
I ;IR . ? 0 ?

A. T |Td B. g ; al
C. 39 : BF D. fsger : die
D

AT Ed 994 & feU v &eedr & &
Teftd dEar oA H AT |
13:17::?2:7?

A. 17 : 24 B. 19:23
G 19: 27 D. 21: 29
B

Arfof@T gea & v v [eedt & &
TEfOd 38R JIA & AT |

A. RFH : THJ B. NPS :OQT
C. LAN :JYL D. TOP: QLM
A

frAfaf@d g & o v fQwedt & @
Qe oreg oA A gAv |

A. TFETS - AlX

B. dI9ATT - f3afr

C. TR - fdegd vdrg

D. & - 3o

C

A QU A yed A, IR H@Ewr oA fow
AT | (-) F ST IR G FEAT (<) &
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Ans.
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35.

eRff 3R & 5 dEw ¥ dRfAuE @
-

g | A 38 e JHMAIH F YR ®
AT § | U v R[hedt & & e &t

gfaw |

A, 12-121 B. 14 -169
C. 16-215 D. 18 - 289
e

rafaf@a gea # GT 71w [Aheur & &
fawa 31eR/37ERT S AT |

A. HFD B. SQO
C. ZXV D. BzZU
D

@ eecl &1 eregepier & 3o arol
S & ITAR o |
Brides

Boastful
Blizzard

Biology

Brilliant

15234

43215

B. 54321
D. 32145

00>V BUYNE

frafaf@a gea # f&T 710 Gheur & &
dTd 3 AT AT |
12, 15, 19, 24, 30, ?

A. 38 B. 37
C. 39 D. 40
B

U A fear &, T @ e ug
qed ¢ | R arv fawedt &% & @@ @
o K ’Gﬁ K %’rchTEh‘lﬂ

A, D, H, M, ?

A. R B.
C. Q D.
B

Ueh gied H, 31¥0T 9T TdHcT & ALT 8
oIsfhdl § dUT 31%0T 9ied # F&d ggell
Sl & | fSHem dur Ader & HEF 5
asfrar & | afs g & uRaa 14

S
T
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Ans.
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Ans.

39.

Ans.

40.
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wsfrar §, ar 9fea & 9 9 9 aar

A. 13 B. 15
C. 18 D. 16
C

fGu a7v fAevedl & @ g8 Usg IAT S
U 31T ersg & 3IHERT T YA Flh oTal
FATIT ST Tl & |

Precious

A. Pire B. Rise
C. Rose D. Rest
D

Ut fAfdse #18 #r #, “RINKS” &1
“SKOMT” for@r Sirar § | 30 &g & &
“FRIED” &l forg@ 9ehX Tor@r Sreem?

A. PQGHJ B. HUKHD

C. KOTGJ] D. GTIGE

D

rar ARTg g AW & X, '+ &
yefld adr &, '+, 'X' P YERd il
%’ l_l’ l+l ﬁ- qa-féﬁ?r m a’ 3_ﬂT l+l’ I_I
F vefid war & | Peafaf@a g @t
3 AT Y |

5+4-10+7%x16=7

A. 50 B. 5

C. 9 D. 11

D

fa@d @Heor ad & | 39
FHAFOT F TE WA F T Fa o
gl & 3399 H 3Ncol-acell &L

aIfge?

18x12-3+10+2 =64

A, + 3 x B. +3T =
c, =3y - D. -3k +
C

gfe 9#3 = 120, 3#4 = 70 3 2#9 =
110 df 5#2 &7 AT Ad HY |

A. 40 B. 50
C. 70 D. 80
C

41.

Ans.
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43.

fArAfafed # & @i a1 9 & =& g
& %A & TR §7?

QPPPPPP, QQPPPPP, QQQPPPP,
QQQQPPP, QQQQQPP,
A. QQQQQQP " B. PPPPPPP

C. QPPPPPP D. QQPPPPP

A

Udh Ugelc 3861 Tl g AR gRad H
35 frAT 3zar g T gf@or & 3R
Hscl & 3R 3MT 15 KA 33ar &,
Ig 3T a1$ RB Hsol § 3R 3WT 20
fhaA. 33ar 8 N I 3N A &
Hear & AR 15 fRAL szar & | srwed
eI AUy & dew & A= 319 Fgl
87

55 foh. Y. qlRgH

15 fer.ar. qa

15 for.AY. gfaH

55 fraf. qa

co 0 @ »

92T & o FUA A A § fowsd 3mr
ey 1 3R 11 @ T § | 3
AT & T et Fud @ & O a8
AT AT g2t & @ gdia g gt
| e fAol &em § @ fw aw
fasast & & sla-avala-a ARaa ¥ &
FUT SART TE AP ST TehelT /TR
¢, Il 1S & |

FYA 11: FH AT 3SAT gl &
sy 11: $o AT @ g §

A. Fad frses 1H8 ¥

B. ohadol fasey 11 TET &

C. ar fashy 13 198 &
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D. T af sy 1TE & a1 & sy 11
C

frafof@a  smefa & ma &
Rifehcael @l Jefid #idr §, g sollard
N GeRid &ar ¢, s e Ferer
A Jefd AT & IR T Serad H;
TEfdd #Xar § | 38R # FiT 9 GHg
3 &d Fafhcasr & weiia a=ar §,
T dr solloy § AT T FHellhR g2

LW 3

el

Gl L
F\UP/ .
E

A. LKCB B. GLKC
C. FEC D. Kn
B

T JHeTshA fear I g, f9wH @ e ug
I § | Rw v et F & 9 7
fshed gAT, ST ghd F QT R |
ANT, CPV, ERX, ?, IVB

A. GTZ B. FSY
C. GTY D. #5Z
A

farafaf@a gea # foT arv [Theur & &
dCd 3 AT fST |
43, 44, 46, 47, 49, 49, 50, ?

A. 54 B. 53
C. 51 D. 52
D

J QU v g &, N @@t & ar
g G ot § | vAF wHg A qEd
JuT AT FEAT Ugell HEdT ¥ R U
deffaga @ grefad g | 9 38 s
TH/fATHA & IUR | JA g | U 1w
ol 7 & e &1 gfaT |

A. (10,12, 14) B. (12, 14, 16)

C. (18,20, 22) D. (24, 26, 30)
D
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50.

Ife T S9OT HI MN (@M 9T @I ST ar
& Tl 3 IFfaAt A F Fla-adr sl

ReT 3MTehf 1 TET Fiafaes gref?
A. B

C. D.

C

fAFafaf@d 3R 3mhfad & @ i @1 oo
ST o 9o Impfd & @ o v &
TATAT 81 ST Hehdl?

X[

KPP
P
B A

Teh 2eG hdol Ueh HEAT-HHE GaNT gt
T g, o Tk fAeedt & & et A
fear = § | faweut & U v dwEr-
THE HeW & & 99if g@RT ST 9T g,
Star o few arv ar Jreget A ¥ | 3MegE-
& TIFH IR dfFd T FEIm 0/ 4 §
3egg-11 &1 5 & 9 3 3Mcggl & TH
HER H Ugar 3 dfFd IR S A
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54.

TAFH TEIT aRT ST ST Fehel & |
3ETeX0T & oI 'B’ &l 24, 31 3¢ @RI
ST ST GhaT § JUT X & 56, 59 HIfY
CINT AT S HHal § | 38 aR§ &

MYl g7 H QU ersg “AXES” & faU
THE I ggdmetel o |

Matrix | Matrix It

Oinv|e
-

S

~-lol-l=l~le
LA L R R
>l -7 |w
vl = |x|e
-lw
|0~ x| =
Z|=|v Dix e

0
1
2

1
4

o|-|12 =]
Ole|m|=
QI |w

P

A. 44,85,21,65
C. 10,97,31,67

B. 44,98,40,75
D. 23,56,11,79

D
0.0068 & TIT 37T #H gRafdd & :
7 17

A 1250 B, 2500
c. 7 D. .

5000 1250
B
3 37l arell fohdell HEI™ §, S Ot e
49 faa g2
A. 225 B. 224
C. 223 D. 222
A

ar sifeear €, T oXd 3R TH I,
grell dlecl, &3¢ dlecl &l hdd 3/5 dT
feedr @ dhdr § | IfE v drend e
& T 6,000 931 &fAAT Hr dredr &
HTIIHAT gl & o 38T dreld I I
& U fFdel oI &Har drell areer

qMET?

A. 8000 B. 10000

C. 12000 D. 15000

B

a3—5+@, FT AT FAT §, S a-2
16a

g7

A. 2 B. 5

c. 7 D. 8

C

~1-8

Ans.

56.

Ans.

57.

Ans.

58.

Ans.

2%,
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60.

wa@ﬁragsrﬁ%é9m%,a’rm
aRga i Bear (@ 7) fhder gefr?
A. 3 B. 6

G B D. 12
B

UF JAThR fohche HeTd T &19thel 24.64
R ¢ | IR & & Haa Hr dar
AT ST, A 5.409fd AR T Hr X &
ST & 9T e ?

A. 9,600 & B. 9,504 %
C. 9,802 % D. 9,876
B

X & 90% = Y FT 40% TAT Y = X FT a%
g | a @ AT FT §?

A. 225 B. 125
S W5 D. 1.25
A

T TEIn3t @ AT 162 § | IfE ugen
TEAT $T g8 §CIT & 3qad 5:7 %
dur qElr Wewr @ delr e ¥
3T

5:3 g, ar gady TEdr &4 §?

A. 35 B. 70
C. 80 D. 40
B

S, T 4T U %A 4200 T, 6300 T dT
8400 ¥ A Fh TH MR Y& Hd
£ 1S, 3 A NI AUR 8IS T g,
T, SR YE gld & 6 Al YA DS
ST § YT U U d¥ deh IOR H I8l
g | T a¥ & 3IHd H Fol A 6000 T
glar ¥ | o # U @ Redr (8 #) @

g?
A. 4200 B. 3200
C. 4000 D. 3600
C

6 FAWEA Uil & HEd 152 & |
3ifaF e qoiiet &1 3taa @ §2
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Ans.

63.

Ans.
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Ans.

65.

Ans.

66.

A. 8 B.
C. 17/2 D.
B

TH TR W 5% yfaay &ir 7 & o
AT ST TTYUROT sATST 65.5 & ¢ | IR
FI AT T H) FT 87

9
7

A. 2600 B. 2620
C. 1320 D. 2880
B

T Hed dUl @sd He¥ & ALY AR
221 % g | Ife ooy ufaerd 17% g,
fashg #eg (T #A) Fa1 §7

A. 1079 B. 1300
C. 1521 D. 1724
C

Teh TE] HT Hihd Hed 3600 T g aAUT
fasha HAed 3132 ¥ § | o dfaerd a1

87

A. 12% B. 13%

C. 17.21% D. 14.94%

B

UTAHel 684 x 686 I Ueh qUT Tal &ellel
& foU g gsq o FEA FAT § ST
A. 685 B. 1

C. 684 D. 686

B

AT dur ARG A TH FEA A 7200 I
# for | giad srdher 38 & @ 5 feEt
H qur JAAT 37kl 3T F 4 Gar
H T FHhar § | I A T FE H,
ar st = Aee arelr T & IR (T

#H) &1 grm?

A. 800 B. 1600
C. 1200 D. 1400
A

U gigd 50 fh.AL/Eer Hr oafd arelr
RS garr v RS g a¥ e @
dur agr gt ag arodr 7 5 fFaA/Eer f
afd @ Yoo TR T Har g | I qff

Ans.

67.

Ans.

68.

Ans.

IqEr # 5 6e 30 fAde o € Y e
aE Fr gl (. #) = @2

A. 30 B. 25
C. 20 D. 18

B

g g1g A1 a¥ 2017 & fav v fafAATor

FYAT F TT FT QAT TSRT AT &
| 3 3@ & Hegqd & 3R
fAafaf@a ueat & 3 ¢ |

Expenditure (in Rs Lakhs) / &0 (1@ 394 #)

y 4 :
O HaUe <ag fhd A W fRar ST
g2

A. HH B. faegd
C. edl AT D. fertrar
C

Ig Urs A¢ a¥ 2017 & faw v fQfasAor
HUAT & T FI AATSTA TR T g
| 3§ IN@ & FIIFT AR
farafaf@a ueat & 30X ¢ |

Expenditure (in Rs Lakhs) / 0T (1@ 394 #)

Sl oY (T T H) FT 872

A. 900 B. 1800
C. 2000 D. 1000
B
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Ans.

70.
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71.

Igg U1Is 91¢ ay 2017 & Tov v [fA#ATor
FUN & TT F AT weiT Far &
| 39 3IRG H IFEIIT AR
rAfaf@d 92t & 3 & |

Expenditura (in Rs Lakhs) / E0T (@T@ 394 H)

Rert [ Poga,
30

F H JiafATca ¥ arel 8T F g

SIUT ST AT f3air & |
A. 40 B. 20

C. 60 D. 30

D

Ig IS IIC gy 2017 & fov v [fFHT
FUAT F T H AHTST TGid FaT &
| 38 3N & FIIT & iR
rafaf@d ueat & 3R ¢ |

Expenditura (in Rs Lakhs) / T0T (@T@ 394 H)

g7 IR F Ald W FIr J= arer
UT Fol FT HT foheall Ficrrd g?

A. 33.30% B. 44.44%

C. 40% D. 30%

B

THh A & Q&0 &1 ders iR dlss
Hae 25 @A 3R 7 @A § | sgEr

qRATT (F.37 . 7) AT I |
A. 124 B. 41
C. 82 D. 62

Ans.

72.

Ans.

73.

Ans.

74.

Ans.,

.

Ans.

76.

Ans.

77,

D
afe Tk AT SgaLet T 6 oMl &, o
% AR HIUT H AT FTH ST
FIUT & AT A fovdal 3l 3if grem?

A. 90° B. 100°
C. 60° D. 108°
C

U oFd AT AF F Ik HAE T &Il
R ST Fas saAer 99 df FaA 3k
9 ¥ § | sHr w (H.AL H) Fd

|

A. 3.5 B. 7

C. 14 D. 10.5

B

(1/3 cot60°) T HT FIT g7

A. (2-V3)/2V3 B. (v2-1)/V2
C. (1-v3)/3 D. (V3-4)/2V3
4

AXYZ H Y R §FKIUT § | IS tanX =
15/8, dl sinZ T Al AT g7

A. 15/17 B. 17/8
€. 12/15 D. 8/17
D

fArfafed & @ $ld qgFd IR A}

T 3 ¥ aReia awar 82

A. 3T HY galcaTed fRaT SATAT §

B. frafa 3R 3md w # wfaeer &
J

C. fofia W 1S Yo 7L &

D. 3T HART 3T W S S &
B
Mo ToIET F & HIHSST

H GUR & G611 ST el § |
A. ariforfsas B aRaser
B. Iod Hseh URdgsl et

C. Taega a1

D. #1$ fehed FEl el ¢ |
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Ans.

79

Ans.

80.

Ans,

81.

Ans.

82.

Ans.

83,
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AIIR gTHeT Hl Hid-GT AT
QeTell Aok 3egeheh T T U1?

A. SR gfad B, FRIAE I
C. FSUT [T D. d&hc gfada
C

i@ d @ Sia-a1 1T a8 Fold
axammﬁa‘é‘rgé?
. S [sTaeT

A

B. HRJ I HAT ASH S IS
C. 37HIeT AN FT ITSA

D. & JTINT &I ISl
D
ar

TR (Wi F A F WS A
efaf@d # & g A § AT ST

22

A. Soc B. X

C. &Es D. §HT Ur
B

TIAA ¥ G HiT-A1 HRAT 81T Slell
ey & AT H ST SATdT AT?

A. F&TedIT HHE

B. 373H - AR did ¥Hg

c. fea

D. 3ifomee q @igaEe

B
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